Profit & Loss
(Type-1)

A sold a thing to B at 20% profit and B sold it
to C at 25% profit. If C paid ¥ 225, find out
the cost price for A.

A 7 et g =1 B 1 20 Wi oy W a= feanqen B3
C =t 25 Ffaer e o= feam 1 afs C 3 225 5. gFA 1Y,

A 7 % g, FoRa T8 § Tdiat ot ?
(A) T 155 (B) T 150
(C) X 145 (D) T 160

A sold a thing to B with 5% loss and B sold it
to C at 10% loss. If the cost price for C is ¥
855 then find out the cost price of A.

A 7 fet 3 =1 B &1 5 Ui 819 | o= fenraen B 3
C =t 10 e &1f7 w o= feam afs C 3 =% 855 %. @

T Y, @A F7 %], TSR 50§ Tt oft ?

(A) ¥ 10000 (B) ¥ 1000

(C) ¥ 1050 (D)% 100

'w purchased Mobile and spent ¥ 110 to re-
pair it. Then he sold it to 'x' at a profit of 20%.
'x' sold it to 'y at aloss of 10%. 'y sold it to '2'
at a profit of 10% for ¥ 1188. Find the price
at which 'w purchased the Mobile.

"W e TS T 110 SHR HE W@ R
TR S 20% &9 R ' 9= ) 'x' 3 'y # 10%
TR fE@m1 'y 7 10% T WT 1188 H 'Z i o=
e 'w 7 39 for vo | wler o ?

(A) X 890 (B) ¥ 870

(C) X 888 (D) ¥ 880

A sold a tape-recorder to B for ¥ 4860 at a
loss of 19%. Again B sold to it to C at price
that would give A a profit of 17% . The gain %
of B is?

AT B®IT4860 H 19% =11 W U 2aft=wict o= B
T C ol THNHISY 39 HiAa T o= " A Tl 17% @14

TS &I, 1 B 1 9 ot 91 o 2

1 4 2
(B) 335 % (C) 445% (D) 662 %

2
(A) 222 % 3

9

5.

A sells an article to B at a gain of 10%. B sells

1
it to C at a gain of 75% C disposes of it at a

loss 0of 25%. If the prime cost to the manufac-
turer A was ¥ 3200 then the price obtained
by Cis:

A B #I T 9% 10% oY T o=@ 8, B 3@ C =

7%% A WA |1 AE C T/ 25% FIH WA= € |
g IeIe®k A i e HwAa I 3200 % off C 5 9T i

TE [T I FA—
(A) 2800 (B) T 2580
(C) T 2670 (D) % 2838

A sold an article to B at 27.5% profit. B spent
% 252 for repairing and sold to C at 16.66%
profit. If the CP of article for C is ¥ 2,555.
Then find the CP of article for A

A F 27.5% W19 W B TF og 9= SR B A ST
7T W X 252 T R S8R C # 16.66% @
AT T | TR C 1 369 Jod % 2555 T, 1 A %1 59 g
@ Y 2

(A) 1550 (B) 1520

(C) 1580 (D) 1600

A sells an article to B makeing a profit of 1/5
of his outlay B sells it to C, gaining 20%. If C

sells it for ¥ 600 and incurs a loss of 1/6 of|
his outly, the CP of A is?

A AR e 1/5 9T &Y TG EU U 9% B 1 o
T B 20% T FAM U C o= feamiafc Caga
600 # o= ez 99 36 9% @ 4o 1 1/6 91
T EE T, A1 A o1 579 Hod H1d ST 2
(A) 500 (B) 400
(C) 800 (D) 1000

A saleable article passes successively in the
hands of three traders each trader sold it fur-
ther at a gain of 25% of the cost price. If the
last trader sold it for ¥ 250 then what was the
cost price for the first trader ?
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Mother's Arithmetic ¢ Profit & Loss

10.

11.

Tk Sr= A T%g 11 SAIiEl & o1 9 TRt € | o
MR T8 379 o R 25% o R =@ § | 9 oifam
=R = 39 % 250 | 991 S §, 99 950 SR %A

ERERIRIN
(A) T 128 (B) T 150
(C) ¥ 192 (D) ¥ 200

Arun buys one kg of apples for ¥ 120 and
sells it to Swati gaining 25%. Swati sells it to
Divya and Divya again sells it for ¥ 198, mak-
ing a profit of 10% . What is the profit percent-
age made by Swati?

a0 T 120 | U fwun. He wiied § o 25% a9 %
1T Y TR AT AT | T 3 e Ay W
= i & feeom 10% e F @ T 198 | s= et

Tta = Tora ey wiaeran etfsia femam = 2
(A) 25% (B) 20%
(C) 16.67% (D) 15%

A certain manufacturer sells a product to the
distributor at 10% profit. Then, the distribu-
tor sells it to the dealer and the dealer sells
to the retailer at a markup of 10% and 20%
respectively. The retailer marks up his cost
by 20% and then offers a 10% discount to the
customer. If the customer had bought it from
the distributor directly at the distributor’s
selling price, then how much percentage re-
duction in price would he have got with re-
spect to buying it from the retailer?

T AT T g W 10% 1 TR WS ek Torshal =l si=rat
R | <l Torshe S Rl 10% e TR Sr=rl & 37X Ser 20%
A R REeR A a7 | o9 REer o 1 qe 20%
TG SR THH WA-H 10% T T TH THh U
ST T | AT ek 4 50 WY ik forskan & 9 foska goa
TR Gl grar a1 38 Reer it oTien 54 fra wfaem e

FH ST B TS 9% 39 ook ¥ &l |
(A) 29.6% (B) 17.3%
(C) 20.1% (D) 22.8%

A sold his car to B at a profit of 20% and B
sold it to C at a profit of 10%. C sold it to D at
aloss 0f 9.09%. D spent 10% of his purchas-
ing price and then sold it at a profit of 8.33%
to A once again. what is the loss of A?

12.

13.

14.

AT 20% T4 R ST %R B Tl 9= {51 B339 10%
R C = 99 &1 C A FR & 9.09% T WD
o= fam1 D 7 wlic 90 #1 10% @9 % 39 8.33%
AT A 9 a1 A = R ftem 6t w1 58 ?
(A) 23% (B) 29%

(C) 50% (D) 43%

Sonu sold an article to Monu at 35% profit.
Again Monu spent ¥ 3780 for repairing the
article and sold it to Ravi at a loss of 18.18%
now CP of article for Ravi is 20% more than
the SP of article for Sonu. Had Soun sold the

article at 30% loss then what will be the SP of
article?

I A I 3 T 98] 35% 1 TS | 59 916 A A
3T 9d W 3780 T Tk 30 18.18% B W
I =l o= T | 319 X & a5 1 T HT | % o
TP § 20% 31 § | 9fE § 759 30% T o=

BT Ot g, T forskar o = g 2
(A) T 4200 (B) T 3500
(C) T 6300 (D) T 4750

2 .
A person Sells TV at 165% profit if he gets

profit equals to 20% SP then he would gain
(5% of CP + X 115) more find CP of TV?

7% e T S F1 I 5 16%% R
a1 R | Afesen 39 faska 9 3 20% % SRe A W
ST BT A SHH AT (T A 5% +3 115) 3T
B ST | 3. T R Hod T RIS 2

(A) X 8,050 (B) ¥ 6,900

(C)% 1,150 (D)X 11,500

Ajay sold an article to Ankit at 23.33% profit
but Ankit sold it to Raju at ¥ 720. Raju sold
this article to Ramesh at 5% profit. If now the
CP of an article for Ramesh is 40% ,more the

original CP(CP for Ajay). Then find the SP of
article for Ajay.

o1 7 Uk a%g 3ifwa A 23.33% e W o=, 3ifRa A
=g B TS 1 T 720 TN R o= T | T A T ] 30
T 5% A AT | TR T F T 37 e 56 a5
AT A AT (3759 & U 378 9e9) | 40% SAfere
], T 7T 1 oIkl Yo ST whiferg 2

(A) T 7280 (B) T 9325

(C) T 8880 (D) T 10000
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Mother's Arithmetic ¢ Profit & Loss

15.

16.

17.

18.

Sharukh sold some articles to Salman at 47%
profit. Due to some reason 2/7 of articles get
destroyed. Of the remaining articles Salman
sold all articles at K% profit to Amir and get
an amount equal to 40% more than Sharukh
pay for them to buy all articles. Then find the
value of K ?

WEED 7 47% TN W FO T TAHH 1 o=t | =t
FRUT W FA TEGST B 2/7 W WIS T T T Y
TGS I TATH A K% oy W ST 1 o= ez iR
WEEE R Wit SRl W Ele # oTa1 R 3 ged |
40% 3Tiees Foa a3 | K 1 19 91 ity 2

(A) 21% (B) 30%
1
(©) 335 % (D) 40%

X sells an article to Y at 12% loss. Y sells it to
Z at 9% profit. If Z pays ¥ 21,582 for it, then
at what price (in ) was the article purchased
by X?
X, Y I T a5 12% T WA= € 1Y, 36 Z 5 9%
Y T ST T | A 39 forg 21,582 1 YT el
7, @ X 7 o s w (% 9) ag St ot ?

[CHSL 2020]
(B) ¥ 22,500
(D)X 21,000

(A) T 19,800
(C) T 23,275

A sold an article to B at a profit of 25%. B
sold it to C of 15%. The profit made by Bis ¥
40 less than the profit made by A. What is
the cost price (in ) of the article for A?

AR TH TG B 25% AT WA=t BAsH 15% &

1 TR C =1 9= | B g 3R TR @ A g T T e

YT 40 FA T | A % forg awg =1 omma goa (X H) F g ?
[CGL Pre 2020]

(B) T 640

(D) T 4000

(A) ¥ 240
(C) X 546
A sold a watch to B at a profit of 20%. B sold
it to C at 30% profit. C sold it to D at 10%

loss. If B's profit is ¥ 80 more than that of A,
then D bought it for

A, B &I 20% % o9 W HiE TSt s=a & | B 36 C &
30% F AT WITAM LI C 38 D =l 10% i 81 W
ST | F(G B @ A %I qerE % 80 St ®, /1 D
34 Ty & Tliea  ? [CGL Mains 2019]

19.

20.

21.

(A)Z 700
(C) T 702

(B) T 680
(D) T 652

The cost price of an item B is Rs. 150 more
than the cost of item A. The item A was sold
at a profit of 10% and the item B was sold at
aloss of 20%. If the respective ratio of selling
prices of items A and Bis 11 : 12, what is the
cost price of the item B?

T K] B 1 %3 9o, 3] % FIe 9 150 T 31
1o A 10% o S TR Si=01 7701 TS oeg, B i 20%
=t I W o= T | Afe a5 A UE B % o qei
T ST 11 ¢ 12 €, < or%g B %1 569 Hod FE 2
(A) Rs. 450 (B) Rs. 420

(C) Rs. 400 (D) Rs. 350

Devkaran sold article A at a loss of 10%. She
sold article B at a price which was 25% more
than the selling price of article A. If she made
a profit of 20% on article B, by what per cent
is the cost price of article A more than that of|
article B?

TR I A I 10% T R 9=t © | g B AR A
% fosra e | 25% S W 9= | Afs SEh! 7 B R
20% 11 ST R, G o A 1 3 Hd 9% B % A HTA
F e oo s=meT & 2

2
() 65 % (B) 4%

1
(C) 5% (D) 2%

The shopkeeper had bought 200 articles from
the wholesaler. Find the total price which was
marked by the wholesaler, if the shopkeeper
sells each unit of articles A, B and D at Rs.
90, Rs. 100 and Rs. 60 and article C unit at
Rs. 160 each. Profit% made on the each unit
of articles A and C were in the ratio 5 : 6.

THFIR A 200 =T @ik foskar & @it | ok faskar g
A T et I AR, IS THRAR a5 A, B 3R D
90 %9, 100 T 3R 60 T H 94 3T C # 160 T
99| gHH 9% A S C R AT 1 @ yfaea 6

I 5: 63|
(A) T 24000 (B) T 16000
(C) T 18000 (D) T 21000
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Mother's Arithmetic ¢ Profit & Loss

22.

23.

Suman sold an old watch to Mangal for ¥ 693
at a profit of 10%. Mangal spent a sum of ¥
207 on its repairing and sold it to Saroj at a
price which would have given Suman a profit

of 30%. The percentage of loss for Mangal is :
FAT F A B TH A TS 10% T W 693 | o= |
TS H 3Tk ATHA W T 207 it T T i 3T 36 W
Tl T HAd TR o=, FTE= GAT 3l 30% T 9 gaT
T | HTe o T =1t =R Wi @ it |

(A) 7% (B) 9%

(C) 10% (D) 5%

Aman sold his car to Ajay at a profit of 25%
and Ajay sold it to Vikram at a profit of 20%.

2
Vikram sold it to Dev at a loss of 65% . Dev

spent 14.28% of his purchasing price and
then sold it at a profit of 6.25% to Aman once
again. What is the loss of Aman?

STHA 1 25% oY T STt 1T ST ki o9 & | 399 1 39

20% =Y W foerg =kl o= T | fasre 3 Fr 6%% £l

BT T T <8 1 o= Tl | S8 1 OIS e 1 14.28% &=
ek 9 6.25% Y T 3T ki o= T | 3199 =t fohaq %

HBES ?
(A) 40% (B) 63%
(C) 45% (D) 70%

24.

25.

A sells an item at 12% profit to B, B sells the
same at 18.75% profit to C and receive ¥
2,66,000. Had C purchased the same item
form A, he would have spent 10% less than
what he spent with B. What profit would A
have made then?

A, B &I 12% @19 W T 9% 991 €, B, C %I 18.75%
A R IET TG 9= @1 T SR 3Y T 2,66,000 WA T4 € |
3R C A et oeg A | Tt 2, 1 se B = form afyn

T YT fRaT o, IHH 10% FH 1 T W HET S|

=9 frarfa o A = fora s smemen g ?
(A) T 39,400 (B) ¥ 26,000
(C) T 46,800 (D) % 35,700

Dev sold some articles to Rahul at 28% profit.
Rahul sold to Rani at 31.25% profit and Rani
sold Samar at 28.57% loss. Ifa Samar bought.
It at ¥ 2730. Then find the cost of article for
Dev?
T J UG Tl FS THU 28% AT T A | TGS = T =l
31.25% AT WX ST | TAT 7 FA I 28.57% BT T o= |
SRR A 58 % 2730 H TiaT &A1 41 99 1 A Hes 91
= |

(A) 1625
(C) 1875

(B) 1750
(D) 2250
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Solutions

1. (B) ATQ, Let CP for first trader =3 x
Let CPfor A=%x 5y
, 120 125 . = X X [Zj =225
~ 77 100 7100 —~ x=%128
= x =% 150
9. (B) ATQ,
2. (B) ATQ, Let % profit for swati = x%
Let CPfor A=3%x
19 9 120 x 2 x 20X 110 g0
XX o X— =855 = 4~ 100 100
20 10 = (100 + x) = 120
= x =% 1000 =>x=20%
3. (A) ATQ, ' 10.(D) ATQ,
Let price for 'w' =X P Let cost price for manufacturer = ¥ 1000
:>(P+110)><§><3><—=1188 CP fi holesal —1000><110 =3 1100
5°70 " 10 = or wholesaler = 100 -
= P=1000-110=7% 890 110
CP for dealer = 1100 x 100 1210

4860
4. (C) CPforA= 81 x 100 =% 6000 6
CP for Retailer = 1210 x g = % 1452

117
CP for C = 6000 x =3 7020 6 O
100 SP for Retailer = 1452 x —x— =% 1568.16
CP for B =¥ 4860 S 10
So, % Profit f B—MXIOO % i —(1568'16_1210) x100=22.8%
0, % Profit for B = 4860 6 savings = 156816 =22.8%
2160 4
=—x100=44-%
4860 9 11. (A) ATQ,
Let initial CP for A =3 100
5. (D) ATQ, 11 43 3 So, CP for B=% 120
= X — X — =
CP for C = 3200 x 10 X202 ¥ 2838 11
CPforC=120x — =% 132
6. (B) ATQ, 10
Let cost price for A =3 x 10 11
Actual CPfor D = 132 x —X— =% 132
127.
j(xx 2 5+252sz=2555 11 10
100 6 13
S | SP for D = New CP for A = 132 x E=?
= 20 143
= x =% 1520 So, loss occured by A = 143 - 120 =% 23
7. (A) ATQ, 23 B
Let CPforA=%x % loss = 100 *x 100 = 23%
6 6 5
= X X gxgxg=600 12. (A) let CP for Sonu =% x
= x =% 500 j(xx%+3780jx%=xx ng
8. (A) ATQ, 20 5
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Mother's Arithmetic ¢ Profit & Loss

27X | 3780 - 2%
~ 20 " 50

03X _ 2780
= 100

= x =3 6000

So, Required SP = 6000 x =3 4200

100

13.(C) Let CP = 6x
= SP = 7x

14.(C) ATQ, 23.33% =

7x
ATQ, ? =x+

6x X5

+ 115

2x 3x

= ——-—— =115

5 10

=>x=7%1150

30

let CP for Ajay =¥ x

j(xxﬂwzo

X_

j 21 7
==X
20 5

30
37x

= —— +720 x 3 =4x

10
3x

= = =720x3

10

=x=%7200

37
So, SP for Ajay = 7200 x 30 - ¥ 8880

15. (C) Let Shahruk purchased 7 articles for X

16.

(B)

100 each.
= CP=%700

147
SP =700 x

100 =% 1029

5 (100+Kj_700x14o
So, 1029 x — x | —706~ |= 100
= 2100 + 21K = 2800

700 .1

= K= E = 335%
X Y Z
1(|)O jS 95./?\2
-12% ~ +9% \l,
21582

17.

18.

19.

20.

(B)

(A)

(A)

95.92 - 21582
1 - 21582 =225
95.92
C.P. for X =225 x 100 = 22500
A B C
100 125 143.79

+25 \l +18.75T
+25% +15%

ATQ
25— 18.75 = 40
6.25 = 40

40

6.25

1=

. 40
Cost price for = —— x 100

6.25
=6.4 x 100 =% 640
A B I
100 —2% 5 120 — 3%
Profit A =20
B=36
=16 — 80
=1-55
D bought it for = 140.4 x 5 = 702

10% Loss

C.P. of article A = Rs. x

.. Cost price of article B
=Rs. (x + 150)

According to the question,

xx110 _11
(x+150)x 80 12

10x 1
= (x+150)x20 3

b 1
= (x+150)x2 3
= 3x = 2x + 300
= x =300
.. C.P. of article B
=300 + 150 = Rs. 450

C.P. of article A=% 100
Its S.P. =% 90
.. S.P. of article B

_, 125x90
100

=% 112.5
.. C.P. of article B

156 ——==— 1404

D
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Mother's Arithmetic ¢ Profit & Loss

B 120

=% 93.75
.. Required per cent

_100-93.75

93.75
625 20 6 2
93.75 3 3
(B) Given Shopkeeper sells 4 different
articles, A, B, C and D in his shop. The
number of articles of these four types
are in the ratio 3 : 2 : 1 : 4.
Let the number of articles be 3a, 2a, a
and 4a respectively.
The cheapest would be article D.
Let the cost price of article D be 'x'.
Then
Cost price of article A = x + 20
Cost price of article B = x + 40
= 0.75a = 12000
= a = Rs. 16000
So total marked price = 16000

(112.5><100j
_% .

100
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